djamato

B % % g =

Instruction Manual

ENy RE PR A ERFRENI >
HIGH SPEED FLAT BED INTERLOCK STITCH MACHINE
WITH TOP FEEDER

VFS2513-8

4 ™
VFS2500-84 5 AMEUEEIAZ & B4 234 This instruction manual includes only the
ZEHLTWED, contents different from VE and VES series.
VES2500-87 5 ZOEIESREAZE L+ Hhtd7 > Please also read the instruction manual
FERCEEW, for VFS2500-8 class.

EREOMERICH -k, IUuRSAEsg Before using your machine, please read
BETREAWEEE, AREL(EELTH theinstruction manual and understand the
SELLBEVCEZWN, contents well.

Fi-. BEAC-T-1BIE. BEWcad AN After reading the instruction manual,
WOTHRENBEZBICRELTLEEZ W, please keep it in a location where it is

L easily accessible to the operator. )

Ny VAMATD SEWING MACHINE MFG. CO,LT0




H R/CONTENTS

1. IELWEWEA 1
2, ft# 2
1. Proper operation 3
2. Specifications 4

%% % ILLUSTRATED SPARE PARTS LIST % % %

BIebH

FERBURGLE LD, ERATREEFET I LB DET. ZTOBCE. FBONTESLUHBERGEO—AN, FHHAE—HK
LBWEEDBDETDT, HOIUHTTEIEEW, T, FEOHRICH>TEALEHLTEL T, F—DRD PR
BONGENHAENTHESKBEETERVI ENHBD XD,

Attention
The description in this instruction manual is subject to change for improvements of the commodity without
notice.




1. ELWMEWE

AEE

G’F%’é‘:ﬁ'BﬁﬁlC\ BT E—FOBBFREVD., T—FOEEFELZTEIELTEEW,

TEVIEXNT % XY DEF=(RRWVWERS) DHRE

DI VIRTREY & LR EHFIREICR>TwET, T
RY OEGHREFEEL L&, R OEFHRLEELT
(&, TEVICHL, XY OEEEIT 1 N1 Mk
Ty, L&Y ORKEHRIES5.0mTY.

() LX) HEROOEZSRERTT,
S 1.6m
HEDS : 5.0m

RV OESGRIZY v I A VOZBEILTREL £7.
@ KEHGmicEY e, EBEENSKELRD £T,
@ RFfetAmICEY &, HEEEBSPRIRYET,

X1

VF52613-8




N
B
2

7 # |VFS2513-8
% | REERy FEERYAESEERE NIV
4 # % |500m (B) x250mm () X430mm (&)
& B |49kg
% B M R [ISOfMs 408, 407, 602, 605
A # =y . XU T REOREREY
e b B |BE&SS 55008 (BREERR)
1.4~3.6m
% v B R ¥ BN 1N(25.4nm)Rl 7~18%
30mmPg 8~21%
B A 4 |UYX128GAS  #9~#14 (E¥#10)
i W (s Som, dom)
gtox Fo—2 [3lm
##f x £ b B |#HiE5.6mDEs L&A E: 6.0m/LETDEL: 7.5m
EVEHEAE |TyyraRkPrvaRk
%8 E Y R |1:0.7~1:2
= BB s mROHEs s LA — 2 BT 5T LIS k) E b BAT)
EZEY E & |1.6~5.0m
EZE YV ETE [E#40m 3.5~6.0miFEHw 58
B OB A5 B |Rr7TiiZEEHEM
i i i |¥<FSFAA4N No. 28
W T B [1100cc
£ R S S B - S & 7 =

VF52513-8




1 . Proper operation

( /AWARNING

Before making adjustment, ALWAYS turn OFF the power switch and check that the machine has already stopped. )

Adjusting movement of top feed dog against lower feed dog

In this model, the top feed dog and the lower feed
dog move independently. Adjust the movement of the

top feed dog after changing the feeding amount of
lower feed dog.

The standard ratio of the top feed dog movement to
lower feed dog feeding amount is 1:1.

The maximum movement of the top feed dog is 5.0 mm.

Note: The mark on the top feed dog graduations@
indicates stitch length.
S5: 1.6 mm Increase

Mark @: 5.0 mm

Fig. 1
Turn the adjusting screw® to make adjustment.
@ To increase movement, turn it clockwise.
® To decrease movement, turn it counterclockwise.

VFS2513-8
3



2. Specifications

Model VFS2513-8

Description High speed flat bed interlock stitch machine with top feeder
Dimensions 500 mm (L) X250 mm (W) X430 mm (H)

Weight 49 kg

Stitch Type ISO 406, 407, 602, 605

Application Covering operation for knitted fabric

Sewing Speed

Up to 5500 rpm (during intermittent operation)

Stitch Length

1.4 - 3.6 mm
The number of stitches 7 - 18 stitches per inch(25.4 mm)

8 - 21 stitches per 30 mm

Needle System

UY X 128GAS #9 — 14 (standard: #10)

Needle Distance

3needle: 4.8 mm, 5.6 mm, 6.4 mm
{(2-neelde: 3.2 mm, 4.0 mm)

Needle Stroke

31 mm

Presser Foot Lift

For 5.6 mm of needle distance
with spreader: 6.0 mm/without spreader: 7.5 mm

Feed Regulation

By pushbutton

Differential Ratio

Standard: 1 : 0.7 -1 : 2

Differential Feed
Regulation

Adjustable by moving external lever even during operation

Front—-and-rear
movement of top feed
dog

1.6 = 5.0 mm

Up—and—-down movement
of top feed dog

Standard: 4.0 mm, adjustable 3.5 — 6.0 mm

Lubrication

Lubrication automatically by pump

Lubricating 0il

YAMATO SF OIL No. 28

Capacity of
0il Reservoir

1100 ce

Installation

Semi—submerged tvpe

VFS2513-8




ILLUSTRATED
SPARE PARTS LIST

VFS2513-8



VFS2513-K4N-8

VF32513-8



VFS2513-K4N-8 EXCLUSIVE PARTS

Y7 EFTIERTm

]

RefNo Parts No. Description m A Amt. Req
1 3167054 Presser Foot, C. Set (56) () 1
2 110004 Screw(M3.5-0.6 X 8) xR 1
3 3107303 Presser Foot Spring(Left) B TSR E) 1
4 3107304 Presser Foot Spring(Right) AR TR () 1
5 130016 Screw(M2.5-045 X 6) jl== 4
6 3107306 Presser Foot Hinge Pin HIEYIEY 1
7 110084 Screw(M35-0.6 x 4.2) IRy 1
8 000327 Lock Nut Owotwhk 1
9 260006 Adjusting Screw(1/8-44 X 9.5) HEiRY 1

10 3167057 Fabric Guide w/HAR 1
11 008051 Screw(3/32-56 X 2.8) Wx3 1
12 3519012 Top Feed Dog LxEY 1
13 3108134 Stitch Plate(56) #HiR 1
14 3201455 Supporting Block L pdm 1
15 3270025 Guide Spacer HA RAAR—-Y 1
16 3400254 Fabric Guide(lLeft) FHA R(E) 1
17 110022 Screw(M3-05 x 10) Exs 2
18 3400255 Fabric Guide(Right) HmH~1 B(H) 1

VF52513-8



yjamato

PYRED VEERASA
YAMATO SEWING MACHINE MFG. €0,LTD,

P/N 9730176 (P/l/B)

No.1 Edited in 2007.2
(VFS2513-8) Printed in Japan 2007.3.1H®



	CONTENTS
	目次
	[P1]   1. 正しい使い方
	[P2]   2. 仕様
	[P3]   1. Proper operation
	[P4]   2. Specifications
	ILLUATRATED SPARE PARTS LIST

